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main(){

int x,y=0;

int a[5]={1,2,3,4,5};

for(x=0;x<5;x++)
y+=a[x];

printf(“%d”,y);

}
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for (int i=0 ;i<4 ; i++)
for (int j=j+1;j<4 ;+4j)

a[i][jl=0;
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void change(int *y ,int x){
*y=5;
X=6;}
int main (){
int a=7 ,b=8;
change (&b,a);
printf("%d%d,a,b);}
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void func (int *x, int  *c)
{*x=5; *c=7;}
main(){
int c[5];inty;
func (A,B);
printf("%d%d",y,c[0];}
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fseek(fp ,21L,1) -l

fseek(fp,7L,1) -<

fseek(fp,21L,0) -z

fseek(fp,7L,0) -»
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int n=7, x=--n*
++N++;
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f (int a,int b){
if (a<b) return a; else return b);}
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n=n /100 +n%
10*10+n%100/10
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int x=13,y=15, b;
b=(x<y && Ix)? x:y;
printf (“%d”,b);

a=5 ;b=46 ; c=b%10;
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a=1l, b=4,c=3

ct+=(a<=10 && ++a>1)? ++a : b/a;
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a+=(c==6 && b>C)? (c==4)+3 : -—¢;

A -l

i -

b-z

q -9

$o95 oozl While sl 4 TOF il 5 ol g Slej 4> (5 gimws Hhas 5HVA
223 75 S ek 4 Sbl Candg S Sy -l

255 1 S il S5 panlys 45 o -

A3k el 1,SS Slads slaws -z

Sgd 1zl L SO Blos adl> 4ol -0

098 (o0 ,1,55 b aix (for i=0 ; i<=10;i++) aal>-114

- 9Ll

- 10o

-11;

ol o

(sl boolean g4 5l H)feal 435 oS Jolas if( (i==2 || f)&& !f)as20-
- if(i==2 &&!f)wl

if (i!=2]f) -




if (i 1=2]]1) -«
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int a[3]=0abc" -

int a[]={3,5,2} -

float a[9]={2} -~

char a[2]={'s",’'p’} -»
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char c[4]="baby” -




char c[5]="baby’ -

char c[]="baby” -z

char c[3]="baby” -»
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int a[8]={2,4,6,8}
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*n=4; -l

int b=4; -

n=&b

int *b; -~

b=n;

*b=4;

int b=4; -»

*n=b
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short b[3]={1,2,3};
short *g=b+1;

g
printf("%d",*q);
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break -

continue -

switch -z
break-continue-switch -
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int f(unsigned int a){return ++a;}
int f(int a ){return -a;}
void main(){cout <<f(+3);}
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enum Day{SAT=6 ,SUN,MON,TUE,WED,THU,FRI}
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String n="amir”;
n.erase(1,2);

const int A=10;
A+=5;
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Vold f(int a,int &b)
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int f(int &k)-wI

int *f (int k) -o

int &f (int k) -z

void f (int & k) -»
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int z=0;
while (z<5)

{if (z>3) break;
Z++;

}
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